



An Example of Two-Fold Fuzzy Algebras Based On Neutrosophic Real Numbers

Abdallah Shihadeh¹, Khaled Ahmad Mohammad Matarneh², Raed Hatamleh³, Randa Bashir Yousef Hijazeen⁴, Mowafaq Omar Al-Qadri⁵, Abdallah Al-Husban⁶

¹Department of Mathematics, Faculty of Science, The Hashemite University, Zarqa 13133, PO box 330127, Jordan, abdallaha_ka@hu.edu.jo

²Faculty of Computer Studies, Arab Open University (AOU), Riyadh, Kingdom of Saudi Arabia,

K.matarneh@arabou.edu.sa

³Department of Mathematics, Faculty of Science and Information Technology, Jadara University, P.O. Box 733, Irbid 21110, Jordan, raed@jadara.edu.jo

⁴Department of Basic Sciences and informatics, Al-Balqa applied university, Al Karak, Jordan, randa.hijazeen@bau.edu.jo ⁵Department of Mathematics, Jerash University, Jerash, Jordan, m.alqadri@jpu.edu.jo

⁶Department of Mathematics, Faculty of Science and Technology, Irbid National University, P.O. Box: 2600 Irbid, Jordan, dralhosban@inu.edu.jo

Abstract: This paper is dedicated to defining and studying for the first time a two-fold algebra over the neutrosophic real number ring by merging the fuzzy set mapping with the algebraic operations of the neutrosophic real number ring.

Also, we study the elementary algebraic properties of the defined two-fold algebra through its algebraic operations and substructures such as homomorphisms and ideals.

Keywords: two-fold algebraic structure, neutrosophic ring, fuzzy set, two-fold fuzzy neutrosophic real number

Introduction

The concept of fuzzy algebraic structure is considered as a direct application of fuzzy sets and fuzzy mappings [1-2, 4, 6-8], where a fuzzy mapping with truth and falsity value is used to build many algebraic structures.

Also, the concept of neutrosophic set was used by many different authors to generalize classical algebraic structures by using logical conditions instead of algebraic elements [13], where we can see neutrosophic rings, neutrosophic matrices, and neutrosophic mappings [5, 9-12].

Recently, Smarandache in [14] has defined two-fold neutrosophic algebras as novel algebraic structures, and this new concept has been used in [16] to define two-fold fuzzy algebra by combining the standard fuzzy number theoretical system defined in [15], with the concept of two-fold algebraic structure, and many interesting theorems and examples were illustrated about this topic.

On the other hand, Hatip et.al [17], have combined real vector spaces, complex vector spaces, and algebraic modules with a fuzzy well-defined mapping to define and study two-fold fuzzy vector spaces and two-fold fuzzy modules, where they studied many elementary properties of these new structures.

This has prompted us to define and study for the first time a two-fold algebra over the neutrosophic real number ring by merging the fuzzy set mapping with the algebraic operations of the neutrosophic real number ring.

For more details about two-fold structures, and their properties, see [14, 16-17].

Main discussion

Definition:

Let $f: \mathbb{R} \to [0,1]$ with: $\begin{cases} f(0) = 0 \\ f(1) = 1' \end{cases}$ then f is called a fuzzy mapping.

We use this definition of fuzzy mappings, that is because the property $\begin{array}{l} f(0) = 0 \\ f(1) = 1 \end{array}$ is very useful in algebraic structures and operations.

Example:

To understand the concept of fuzzy mapping, we will illustrate two different fuzzy mappings defined on the real field R.

Define: $f, g, h: \mathbb{R} \rightarrow [0,1]$ such that:

$$f(x) = \begin{cases} x^2 & if - 1 < x \le 1\\ \frac{1}{|x|} & if \ x > 1 \ or \ x < -1, \ g(x) = \begin{cases} |x^5| & if - 1 < x \le 1\\ \frac{1}{|x^5|} & if \ x > 1 \ or \ x < -1\\ 0.6 & if \ x = -1 \end{cases}$$

We can see that f and g lie in the closed interval [0,1], with f(0) = g(0) = 0, f(1) = g(1) = 1.

Definition:

Let $\mathbb{R}(I) = \{x + yI : x, y \in \mathbb{R} , I^2 = I\}$ be the ring of neutrosophic real numbers, and $f: \mathbb{R} \to [0,1]$ with: $\begin{cases} f(0) = 0 \\ f(1) = 1 \end{cases}$ be a fuzzy mapping We define $f_I: \mathbb{R}(I) \to [0,1]: f_I(x + yI) = \max(f(x), f(y))$

And $\mathbb{R}_{f_I}(I) = \{(x + yI)_{f_I(x+yI)} ; x, y \in \mathbb{R}\}$ is called the two- fold neutrosophic real numbers fuzzy algebra (NRNFA).

Definition:

The algebraic operations on $\mathbb{R}_{f_l}(l)$ are defined as:

*:
$$\mathbb{R}_{f_I}(I) \times \mathbb{R}_{f_I}(I) \to \text{ such that:} \mathbb{R}_{f_I}(I)$$

$$\circ: \quad \mathbb{R}_{f_{I}}(I) \times \mathbb{R}_{f_{I}}(I) \to \qquad \mathbb{R}_{f_{I}}(I)$$

 $(x + yI)_{f_{I}(x+yI)} * (z + tI)_{f_{I}(z+tI)} = [(x + z) + (y + t)I]_{f_{I}[(x+z)+(y+t)I]}$ $(x + yI)_{f_{I}(x+yI)} \circ (z + tI)_{f_{I}(z+tI)} = [x \cdot z + I(xt + yz + yt)]_{f_{I}[x \cdot z + I(xt + yz + yt)]}$

Theorem 1:

- 1] *, are commutative operations.
- 2] *, are associative operations.

3] * has o_{\circ} as an identity, \circ has 1_1 as an identity.

4] \circ is distributive with respect to *.

5] Every $(x + yI)_{f_I(x+yI)}$ has an inverse with respect to (*).

6] $(x + yI)_{f_I(x+yI)}$ has an inverse with respect to (\circ) if and only if $x \neq 0$. x + yI

 $y \neq 0$

Definition:

Let $P = A_0 + A_1 I$ be an ideal of $\mathbb{R}(I)$, then we define the corresponding two-fold ideal as follows:

$$P_F = \{ (x + yI)_{f_I(x+yI)} \in \mathbb{R}_{f_I}(I) ; x + yI \in P \}$$

Definition:

Let $P = A_0 + A_1 I$ be an AH-ideal of $\mathbb{R}(I)$, then we define the corresponding two-fold AH-ideal as follows:

$$P_F = \{ (x + yI)_{f_I(x + yI)} \in \mathbb{R}_{f_I}(I) ; x \in A_0 . y \in A_1 \}$$

Theorem 2:

Let $P_F = (A_0 + A_1 I)_F$ be a two-fold ideals of $\mathbb{R}_{f_I}(I)$, then:

$$\begin{cases} B_{f_{I}(B)} * C_{f_{I}(C)} \in P_{F} \\ r_{f_{I}(r)} \circ B_{f_{I}(B)} \in P_{F} \end{cases} ; where \ B.C \in P_{F} .r \in \mathbb{R}(I)$$

Definition:

Let φ : $\mathbb{R}(I) \to \mathbb{R}(I)$ be a ring homomorphism, we define:

 $\varphi_{I}(B_{f_{I}(B)}) = (\varphi(B))_{f_{I}(\varphi(B))} \quad ; \quad \varphi_{I} : \quad \mathbb{R}_{f_{I}}(I) \to \mathbb{R}_{f_{I}}(I)$

The mapping φ_I is called two-fold homomorphism.

If φ is an isomorphism, then φ_I is called two-fold isomorphism.

Theorem 3:

Let φ_I be two-fold homomorphism, then:

1]
$$\varphi_I(o_\circ) = o_\circ$$
 . $\varphi_I(1_1) = 1_1$

2]
$$\varphi_I(B_{f_I(B)} * C_{f_I(C)}) = \varphi_I(B) * \varphi_I(C)$$

3]
$$\varphi_I(B \circ C) = \varphi_I(B) \circ \varphi_I(C)$$

4]
$$\varphi_I(-B) = - \varphi_I(B)$$

- 5] $\varphi_I\left(\frac{1}{B}\right) = \frac{1}{\varphi_I(B)}$; B is invertible.
- 6] $k_{er}(\varphi_I)$ is an ideal of $\mathbb{R}_{f_I}(I)$.
- 7] $I_m(\varphi_I)$ is a subring of $\mathbb{R}_{f_I}(I)$.
- 8] If P_F is an ideal of $\mathbb{R}(I)$, then $\varphi_I(P_F)$ is an ideal.

9] If P_F is an AH-ideal of $\mathbb{R}(I)$, then $\varphi_I(P_F)$ is an AH-ideal.

Definition:

Let $\varphi_I: \mathbb{R}_{f_I}(I) \to \mathbb{R}_{f_I}(I) : \Psi_I: \mathbb{R}_{f_I}(I) \to \mathbb{R}_{f_I}(I)$, we define:

 $\varphi_I \times \Psi_I$: $\mathbb{R}_{f_I}(I) \to \mathbb{R}_{f_I}(I)$ such that: $\varphi_I \times \Psi_I(B_{f_I(B)}) = \varphi_I(\Psi_I(B_{f_I(B)}))$

Theorem 4:

Let φ_I . Ψ_I : $\mathbb{R}_{f_I}(I) \to \mathbb{R}_{f_I}(I)$ be two-fold homomorphisms, then:

1] $\varphi_I \times \Psi_I$ is two-fold homomorphism.

2] if $\varphi_I \cdot \Psi_I$ are two isomorphisms, then $\varphi_I \times \Psi_I$ is an isomorphism.

Definition:

Let P_F be an ideal of $\mathbb{R}_{f_I}(I)$, then:

 $\mathbb{R}_{f_I}(I)/P_F = \{B_{f_I(B)} \circ P_F : B \in \mathbb{R}(I)\} \text{ is called the factor of } P_F.$

Theorem 5:

Let P_F be an ideal of $\mathbb{R}_{f_I}(I)$, then:

 $(\mathbb{R}_{I}(I)/P_{F}, *', \circ') \text{ is a ring, with:}$ $*': \mathbb{R}_{I}(I)/P_{F} \times \mathbb{R}_{I}(I)/P_{F} \to \mathbb{R}_{I}(I)/P_{F}$ $\circ': \mathbb{R}_{I}(I)/P_{F} \times \mathbb{R}_{I}(I)/P_{F} \to \mathbb{R}_{I}(I)/P_{F}$ $\begin{cases} (B_{f_{I}(B)} \circ P_{F}) *' (C_{f_{I}(C)} \circ P_{F}) = (B * C) \circ P_{F} \\ (B_{f_{I}(B)} \circ P_{F}) \circ' (C_{f_{I}(C)} \circ P_{F}) = (B \circ C) \circ P_{F} \end{cases}$

Theorem 6:

Let $\mathbb{R}_I(I)/P_F$ be the two- fold factor ring of P_F , then:

If S/P_F is an ideal of $\mathbb{R}_I(I)/P_F$, then S is an ideal of $\mathbb{R}_I(I)$ and contains (*P*).

Theorem 7:

Let φ_I be two-fold homomorphism, then:

$$\mathbb{R}_{f_I}(I)/k_{er}(\varphi_I) \cong I_m(\varphi_I)$$

Proof of theorem 1:

Let $B = b_0 + b_1 I$. $C = c_0 + c_1 I$. $D = d_0 + d_1 I \in \mathbb{R}(I)$, then:

$$\begin{array}{l} 1] \quad B_{f_{I}(B)} * C_{f_{I}(C)} = (B + C)_{f_{I}(B+c)} = (C + B)_{f_{I}(C+B)} = C_{f_{I}(C)} * B_{f_{I}(B)} \\ \\ B_{f_{I}(B)} \circ C_{f_{I}(C)} = (B \cdot C)_{f_{I}(Bc)} = (CB)_{f_{I}(CB)} = C_{f_{I}(C)} \circ B_{f_{I}(B)} \\ \\ 2] \qquad B_{f_{I}(B)} * (C_{f_{I}(C)} * D_{f_{I}(D)}) = B_{f_{I}(B)} * (C + D)_{f_{I}(C+D)} = (B + C + D)_{f_{I}(B+C+D)} = \\ (B + C)_{f_{I}(B+C)} * D_{f_{I}(D)} = (B_{f_{I}(B)} * C_{f_{I}(C)}) * D_{f_{I}(D)} \\ \\ B_{f_{I}(B)} \circ (C_{f_{I}(C)} \circ D_{f_{I}(D)}) = B_{f_{I}(B)} \circ (CD)_{f_{I}(CD)} = (BCD)_{f_{I}(BCD)} = (BC)_{f_{I}(BC)} * D_{f_{I}(D)} \\ \\ = (B_{f_{I}(B)} \circ C_{f_{I}(C)}) \circ D_{f_{I}(D)} \\ \\ 3] \quad B_{f_{I}(B)} * o_{\circ} = (B + \circ)_{f_{I}(B+\circ)} = B_{f_{I}(B)} \\ \\ B_{f_{I}(B)} \circ 1_{1} = (B \cdot 1)_{f_{I}(B+1)} = B_{f_{I}(B)} \end{array}$$

4]
$$B_{f_{I}(B)} \circ (C_{f_{I}(C)} * D_{f_{I}(D)}) = B_{f_{I}(B)} \circ (C + D)_{f_{I}(C+D)} = (BC + BD)_{f_{I}(BC+BD)} =$$

$$(BC)_{f_{I}(BC)} * (BD)_{f_{I}(BD)} = (B_{f_{I}(B)} \circ C_{f_{I}(C)}) * (B_{f_{I}(B)} \circ D_{f_{I}(D)})$$

- 5] The inverse of $(x + yI)_{f_I(x+yI)}$ for (*) is: $(-x yI)_{f_I(-x-yI)}$
- 6] The inverse of $(x + yI)_{f_I(x+yI)}$ for (°) is: $\left(\frac{1}{x} + I(\frac{1}{x+y} \frac{1}{x})\right)_{f_I\left(\frac{1}{x} + I(\frac{1}{x+y} \frac{1}{x})\right)}$

Proof of theorem (2):

Let
$$C \in P$$
 $r \in \mathbb{R}(I)$, then:

$$\begin{cases} B + C \in P \\ r \cdot B \in P \end{cases}$$
So that:

$$\begin{cases} (B + C)_{f_I(B+C)} = B_{f_I(B)} * C_{f_I(C)} \in P_F \\ r_{f_I(r)} \circ B_{f_I(B)} = (r \cdot B)_{f_I(r \cdot B)} \in P_F \end{cases}$$

Proof of theorem (3):

$$1] \begin{cases} \varphi_{I}(o_{\circ}) = (\varphi(o))_{f_{I}(\varphi(o))} = o_{\circ} \\ \varphi_{I}(1_{1}) = (\varphi(1))_{f_{I}(\varphi(1))} = 1_{1} \end{cases}$$

$$2] \qquad \qquad \varphi_{I}(B_{f_{I}(B)} * C_{f_{I}(C)}) = \qquad \varphi_{I}(B + C)_{f_{I}(B+c)} = (\varphi(B) + \varphi(C))_{f_{I}(\varphi(B) + \varphi(C))} = 0$$

$$\varphi(B)_{f_{I}(\varphi(B))} * \varphi(C)_{f_{I}(\varphi(C))} = \varphi_{I}(B_{f_{I}(B)}) * \varphi_{I}(C_{f_{I}(C)})$$

3]
$$\varphi_I(B_{f_I(B)} \circ C_{f_I(C)}) = \varphi_I(BC)_{f_I(Bc)} = (\varphi(B)\varphi(C))_{f_I(\varphi(B)\varphi(C))} = \varphi(B)_{f_I(\varphi(B))} \circ$$

$$\varphi(C)_{f_{I}(\varphi(C))} = \varphi \ (B_{f_{I}(B)}) \circ \varphi(C_{f_{I}(C)})$$

4]
$$\varphi_I((-B)_{f_I(-B)}) = (-\varphi(B))_{f_I(-\varphi(B))} = -\varphi(B)_{f_I(\varphi(B))} = -\varphi_I(B_{f_I(B)})$$

Abdallah Shihadeh, Khaled Ahmad Mohammad Matarneh, Raed Hatamleh, Randa Bashir Yousef Hijazeen, Mowafaq Omar Al-Qadri, Abdallah Al-Husban, An Example of Two-Fold Fuzzy Algebras Based On Neutrosophic Real Numbers

5] It can be proved by the same.

6] $k_{er}(\varphi_I) = (k_{er} \varphi)_{f_I} = \{B_{f_I(B)} ; B \in k_{er} \varphi\}$, which is an ideal of $\mathbb{R}_{f_I}(I)$, that is because $(k_{er} \varphi)$ is an ideal of $\mathbb{R}(I)$.

7] $I_m(\varphi_I) = (I_m \varphi)_{f_I} = \{B_{f_I(B)}: B \in I_m \varphi\}$, which is a subring of $\mathbb{R}_{f_I}(I)$, that is because $(I_m \varphi)$ is a subring of $\mathbb{R}(I)$.

8]
$$\varphi_I(P_F) = (\varphi(P))_{f_I} = \{(\varphi(B))_{f_I}(\varphi(B)): B \in P\}$$
, and it is an ideal of $\mathbb{R}_{f_I}(I)$ because $\varphi(P)$ is an ideal.

9] It can be proved by the same.

Proof of theorem (4):

1]
$$\varphi_I \times \Psi_I(B_{f_I(B)}) = \varphi_I(\Psi(B))_{f_I(\Psi(B))} = (\varphi \Psi(B))_{f_I(\varphi \Psi(B))}$$

Thus $\varphi_I \times \Psi_I (B_{f_I(B)} * C_{f_I(C)}) = (\varphi \Psi(B + C))_{f_I (\varphi \Psi(B + C))} = (\varphi \Psi(B) + C)_{f_I (\varphi \Psi(B + C)$

 $\varphi \Psi(\mathsf{C}))_{f_{I}(\varphi \Psi(\mathsf{B}) + \varphi \Psi(\mathsf{C}))} = [\varphi_{I} * \Psi_{I}(B)] \circ [\varphi_{I} * \Psi_{I}(C)].$

2] It holds directly from the definition.

Proof of theorem (5):

$$(B_{f_{I}(B)} \circ P_{F}) *' (C_{f_{I}(C)} \circ P_{F}) = (B * C) \circ P_{F} = (C * B) \circ P_{F}$$

$$= (C_{f_{I}(C)} \circ P_{F}) *' (B_{f_{I}(B)} \circ P_{F})$$

$$(B_{f_{I}(B)} \circ P_{F}) \circ' (C_{f_{I}(C)} \circ P_{F}) = (B \circ C) \circ P_{F} = (C \circ B) \circ P_{F}$$

$$= (C_{f_{I}(C)} \circ P_{F}) \circ' (B_{f_{I}(B)} \circ P_{F})$$

$$(B_{f_{I}(B)} \circ P_{F}) *' [(C_{f_{I}(C)} \circ P_{F}) *' (D_{f_{I}(D)} \circ P_{F})] = (B * C * D)_{f_{I}(B * C * D)} \circ P_{F}$$

$$= [(B_{f_{I}(B)} \circ P_{F}) *' (C_{f_{I}(C)} \circ P_{F})] *' (D_{f_{I}(D)} \circ P_{F})$$

$$(B_{f_{I}(B)} \circ P_{F}) \circ' [(C_{f_{I}(C)} \circ P_{F}) \circ' (D_{f_{I}(D)} \circ P_{F})] = (B \circ C \circ D)_{f_{I}(BCD)} \circ P_{F}$$

$$= [(B_{f_{I}(B)} \circ P_{F}) \circ' (C_{f_{I}(C)} \circ P_{F})] \circ' (D_{f_{I}(D)} \circ P_{F})$$

$$(B_{f_{I}(B)} \circ P_{F}) *' (-B_{f_{I}(B)} \circ P_{F}) = o_{\circ} \circ P_{F}.$$

Abdallah Shihadeh, Khaled Ahmad Mohammad Matarneh, Raed Hatamleh, Randa Bashir Yousef Hijazeen, Mowafaq Omar Al-Qadri, Abdallah Al-Husban, An Example of Two-Fold Fuzzy Algebras Based On Neutrosophic Real Numbers

Thus $(\mathbb{R}_I(I)/P_F \cdot *' \circ')$ is a commutative ring with unity.

Proof of theorem (6):

Assume that S/P_F is an ideal of $\mathbb{R}_I(I)/P_F$, then:

 $S \subseteq \mathbb{R}(I)$ is an ideal, with $P \subseteq S$.

Proof of theorem (7):

Since $\mathbb{R}(I)/k_{er}$ (φ) $\cong I_m$ (φ), we can write:

$$\mathbb{R}_{f_I}(I)/(k_{er}(\varphi))_{f_I} \cong (I_m(\varphi))_{f_I}$$
, thus:

$$\mathbb{R}_{f_I}(I)/k_{er}(\varphi_I) \cong I_m(\varphi_I)$$

Example:

Consider
$$f: \mathbb{R} \to [0.1]$$
;
$$\begin{cases} f(0) = 0\\ f(1) = 1\\ f(x) = \frac{1}{|x|} ; |x| > 1\\ f(x) = |x| ; 0 < |x| < 1 \end{cases}$$

For $B = 3 + 2I \in \mathbb{R}(I)$. $B_{f_I(B)} = (3 + 2I)_{\frac{1}{2}}$.
For $C = 2 + 5I \in \mathbb{R}(I)$. $C_{f_I(C)} = (2 + 5I)_{\frac{1}{2}}$.
 $B * C = (5 + 7I)_{\frac{1}{5}}$. $B \circ C = (6 + 29I)_{\frac{1}{6}}$
 $-B = (-3 - 2I)_{\frac{1}{2}}$. $-C = (-2 - 5I)_{\frac{1}{2}}$

Conclusion

In this paper, we have defined and study for the first time a two-fold algebra over neutrosophic real number ring by merging the fuzzy set mapping with the algebraic operations of the neutrosophic real number ring. Also, we studied the elementary algebraic properties of the defined two-fold algebra through its algebraic operations and substructures such as homomorphisms and ideals.

In the future, we aim to generalize our study to other neutrosophic algebraic structures.

References

[1] A. Rosenfeld, Fuzzy groups, J. Math. Anal. Appl. 35 (1971), 512-517.

[2] P. Sivaramakrishna Das, Fuzzy groups and level subgroups, J. Math. Anal. Appl. 84 (1981), 264-269.

[3] Mohammad Abobala. (2020). n-Cyclic Refined Neutrosophic Algebraic Systems of Sub-Indeterminacies, An Application to Rings and Modules. International Journal of Neutrosophic Science, 12 (2), 81-95

(**Doi** : https://doi.org/10.54216/IJNS.120203)

[4] Malath Fared Alaswad, Rasha Dallah. (2023). Neutrosophic Divisor Point of A Straight Line Segment With A Given Ratio. Pure Mathematics for Theoretical Computer Science, 2 (1), 18-23 (Doi : https://doi.org/10.54216/PMTCS.020102)
[5] Rashel Abu Hakmeh, Murhaf Obaidi. (2024). On Some Novel Results About Fuzzy n-Standard Number Theoretical Systems and Fuzzy Pythagoras Triples. Journal of Neutrosophic and Fuzzy Systems, 8 (1), 18-22

(**Doi** : https://doi.org/10.54216/JNFS.080102)

[6] T. M. Anthony, H. Sherwood, A characterization of fuzzy subgroups, Fuzzy Sets and Systems 7 (1982), 297-305.

[7] W. M.Wu, "Normal fuzzy subgroups," Fuzzy Mathematics, vol.1, no. 1, pp. 21–30, 1981.

[8] Palaniappan, N, Naganathan,S and Arjunan, K " A study on Intuitionistic L-Fuzzy Subgroups", Applied Mathematical Sciences, vol. 3, 2009, no. 53, 2619-2624. [9] Noor Edin Rabeh, Othman Al-Basheer, Sara Sawalmeh, Rozina Ali. (2023). An Algebraic Approach to n-Plithogenic Square Matrices For $18 \le n \le 19$. Journal of Neutrosophic and Fuzzy Systems, 7 (2), 08-23,

(**Doi** : https://doi.org/10.54216/JNFS.070201)

[10] M.A. Ibrahim, A.A.A. Agboola , E.O. Adeleke, S.A. Akinleye. (2020). On Neutrosophic Quadruple Hypervector Spaces. International Journal of Neutrosophic Science, 4 (1), 20-35 (**Doi** : https://doi.org/10.54216/IJNS.040103)

[11] Mohammad Abobala. (2020). Classical Homomorphisms Between n-Refined Neutrosophic Rings. International Journal of Neutrosophic Science, 7 (2), 74-78
(Doi : https://doi.org/10.54216/IJNS.070204)

[12] Mohammad Abobala. (2020). Classical Homomorphisms Between Refined Neutrosophic Rings and Neutrosophic Rings. International Journal of Neutrosophic Science, 5 (2), 72-75 (Doi : https://doi.org/10.54216/IJNS.050202)

[13] P.K. Sharma , "(α , β) – Cut of Intuitionistic fuzzy Groups" International Mathematical Forum, Vol. 6, 2011 , no. 53 , 2605-2614.

[14] Florentine Smarandache. "Neutrosophic Two-Fold Algebra", Plithogenic Logic and Computation, Vol.1, No.1 2024. PP.11-15.

[15] Mohammad Abobala. "On The Foundations of Fuzzy Number Theory and Fuzzy Diophantine Equations." Galoitica: Journal of Mathematical Structures and Applications, Vol. 10, No. 1, 2023 ,PP. 17-25 (Doi: <u>https://doi.org/10.54216/GJMSA.0100102</u>).

[16] Mohammad Abobala. (2023). On a Two-Fold Algebra Based on the Standard Fuzzy Number Theoretical System. Journal of Neutrosophic and Fuzzy Systems, 7 (2), 24-29

(**Doi** : <u>https://doi.org/10.54216/JNFS.070202</u>).

[17] Ahmed Hatip, Necati Olgun. (2023). On the Concepts of Two- Fold Fuzzy Vector Spaces and Algebraic Modules. Journal of Neutrosophic and Fuzzy Systems, 7 (2), 46-52
(Doi : <u>https://doi.org/10.54216/JNFS.070205</u>).

Received: Feb 7, 2024. Accepted: April 29, 2024